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48 2H 0.03 0.03 0.03 0.03 0.04 0.03
48 9H 0.03 0.02 0.03 0.03 0.04 —
48 16H 0.03 0.03 0.03 0.03 0.04 —
48 23H 0.03 0.03 0.03 0.03 0.05 —
48 30H 0.03 0.03 0.03 0.03 0.04 —
58 6H 0.04 0.03 0.03 0.04 0.04 0.03
58 13H 0.04 0.04 0.03 0.04 0.05 —
58 20H 0.04 0.03 0.03 0.04 0.05 —
58 27H 0.03 0.03 0.04 0.03 0.04 —
68 3H 0.05 0.04 0.04 0.05 0.06 0.04
68 10H 0.05 0.04 0.04 0.04 0.05 —
68 17H 0.04 0.03 0.03 0.04 0.05 —
68 24H 0.04 0.04 0.04 0.05 0.05 —
78 1H 0.04 0.03 0.03 0.04 0.06 0.05
78 8H 0.05 0.04 0.04 0.05 0.06 —
78 158 0.05 0.03 0.04 0.04 0.05 —
78 228 0.04 0.04 0.04 0.04 0.05 —
78 298 0.04 0.04 0.04 0.04 0.05 —
88 5H 0.04 0.04 0.04 0.05 0.05 0.04
88 12H 0.04 0.04 0.04 0.04 0.05 —
88 19H 0.04 0.04 0.04 0.04 0.05 —
88 26H 0.04 0.04 0.03 0.04 0.05 —
98 2H 0.04 0.04 0.04 0.04 0.05 0.04
98 9H 0.04 0.04 0.03 0.04 0.05 —
98 16H 0.04 0.03 0.03 0.04 0.05 —
98 23H 0.03 0.03 0.03 0.03 0.04 —
98 30H 0.03 0.03 0.03 0.03 0.04 —
10H 7H 0.03 0.03 0.03 0.03 0.04 0.03
108 14H 0.03 0.03 0.03 0.03 0.04 —
108 21H 0.03 0.03 0.03 0.03 0.04 —
108 28H 0.03 0.03 0.03 0.03 0.04 —
11H 4H 0.03 0.03 0.03 0.03 0.04 0.03
118 118 0.03 0.03 0.04 0.03 0.04 —
118 18H 0.03 0.03 0.03 0.04 0.04 —
118 25H 0.03 0.03 0.03 0.03 0.04 —
12H 2H 0.03 0.03 0.03 0.03 0.04 0.03
12H 9H 0.03 0.03 0.02 0.03 0.04 —
128 16H 0.03 0.03 0.02 0.03 0.04 —
128 23H 0.03 0.03 0.03 0.03 0.04 —
128 28H 0.03 0.03 0.03 0.04 0.04 —
1B 48 0.03 0.02 0.03 0.03 0.04 0.02
1H 6H 0.03 0.03 0.02 0.02 0.03 —
18 138 0.03 0.03 0.03 0.03 0.03 —
18 208 0.02 0.02 0.02 0.02 0.03 —
18 278 0.03 0.02 0.02 0.02 0.03 —
28 3H 0.03 0.02 0.02 0.02 0.03 0.03
28 108 0.03 0.02 0.02 0.02 0.03 —
28 178 0.03 0.03 0.02 0.03 0.04 —
28 248 0.03 0.03 0.02 0.03 0.04 —
38 3H 0.03 0.03 0.03 0.03 0.04 0.03
38 108 0.03 0.03 0.03 0.03 0.04 —
38 178 0.03 0.03 0.03 0.03 0.04 —
38 24H 0.03 0.03 0.03 0.03 0.04 —
38 31H 0.03 0.03 0.03 0.04 0.04 —




